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< 1> Net winding rate Vr,  Vrl Angleof wind ©@; O,

Sloughing-off . <
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A'B D;= 10cm, D, =
8cm A B 1cm n rpm
A 3cm B

3x 1—80:2.4cm A sin® 1 =0.333



O 1=19°27 A

Vi
Vt o !
V—ztanelzlg 27 V. =10xnzn
Vi =0.3532x 10x n1t
= 11.09n cm/min ; A
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Vi=nrmr x 8x tan24°37
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< 3> Diameter of Cone Section

half-accelerated grooved drum

knitting Cone
taper drum pitch
fully-accelerated drum
travere
Cone x Coil angle Sine = < 1>
< 1>

10. 90 0, 9606 10. 47m

11. 08w 0, 9420 10. 46n

11, 52n 0. 8091 10 47=

12, Glm 0. 8315 1. 4T




Cone D, V, d,
\Y Caoail a

V Dtanta

v /D?(+tan? o) - d,

< 4> < 2> < 4>

Cone Coil traverse

b —

< 4> Dimensions required for a specified cone

< 2>

245 A F BB 2 M) traverseiBE

Dhem) (Ve em/min}
12 1s°g" 73°52" 10, 4
10 19°27* TO°33° 11. 09a
3 T G503 11. 53m

33°d45" a6°15° 12, G0m

2> 8cm traverse 11.52n cm/min



Coil 65°23

Vo D tan65°23
11.52n  \/D?(1+ tan? 65'23) — 82

D =12cm traverse
V= 11.52x12x tan65°23'
J44%(1+ tan? 65°23) — 64
301.8n
= =10.9n
A 766.5
2.
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< 5> Simplified plane-friction treory
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< 6> disk disk

500g .y =0.28

T = 100+2x 0.28x 500 = 380g

force (or tension) required =2u N

Inpat Load 5 i Cutpur 180 mH
100 mMN L ; .
= — e ———————
T r 1'
Rezciion 500 mM
< 6> Disk tensioning device
1
< 7>
T=To'°
T=To=70g u =02, ©=180° T =70x e"**=131.25¢
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8> Combination of additive and multiplicative tensioning methods

= 50g + 2x 0.2x 50 = 70g

=70x e 2=70x 1,369 = 95.82g

T

=9582x e 2 =131.18g

=131.18+0.2x 2x 100 =171.18g

=171.18x e 2=234.35¢



b:=0.08t2+0.04, W = $+o.01

7.5

b =0.08t> + 0.04

W= ?+0.01

0.3b = 0.3(0.08t*+0.04)

7.5w = 7.5(? + 0.01)

C=0.3b+7.5w

= 0.3(0.08t°+0.004)+7.5
= (% + o.01j

t
= 0.0024t>+4.5/t+0.087

C

0.3



dc 45

= 00048t - >
dt t
0048t - 420

t
t = /937.6 = 9.786g



